Intermediate Algebra Name

Unit 2 Review Period Date

2.1 I can demonstrate understanding of the definition of a function and can determine when

relations are functions given a graph, table or real-world situation.

Level 1

Determine whether each relation is a function. Explain your reasoning.
1. {®-2).(81),(s 2),@ 3)} 2. {(7,-1),(6,2),(2,6),(5-1)} 3. {(0,0),(1,1),(4,2),(-1, 1)}
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Level 2/3

Define each input and output, determine whether the relation the person is describing is a function.
Explain your reason.

10. Sally thinks that months and the holidays that are in that month is a function:
Input: N WA
Output: \-\g\ \dq_.j

Yes 0

Explain: M Wsw wware dhoun | M\*\-\a

11. Ray thinks that holidays and the months that they are celebrated in is a function:
Input: YW
Output: M gAdia,

Yes or,

Explain &ymarwae y Eover is YA Mour Or Agri\



12. Jim thinks that students and their id numbers is a function

Input: DA ®S
Output: T\o &S

r No

Explain: Eoctan Shdanad VoS S TO ®-

13. Kelly thinks age of students and their names is a function:

Input: Aee
Output: "oume
Yes o

Explain: fw o oo have Mm.u) Aot Nomwar s,

14. Sketch a graph that could match this real-world situation where x represents time and y
represents the value of your new car:

You buy a brand new car and it loses value very quickly in the first 2 years and then
starts losing value more slowly. Label your axes!
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2.2 | understand the meaning of function notation and can evaluate functions for a given input.

Level 1
Evaluate each expression given the functions below:
f(x)=-3x+1 gx)=x*+7 h(x) =2x+9
1 £(10) = =3 (o) | 2. 9(3) =3 3. h(-2) = 2(-2)+9
5. Findxif f(x) =16 6. Findxif g(x) =32
4 A +h(5) = o= =3n+| 232= x4
4N 20wz - 15 = =3 2 6=y

W(8)=2(8)4q =19 E:-S ’ x5 )\

£(4Yh(5) = ()




Use the graph to find the following:

7. f(5) 2 —|
8. f(-2) .':L.‘

9. xwhen f(x) =2
Xe =l B

10. x when f(x) = 0
X=0

Use the table to find the following:
11. g(1) = '7

12.92) =

13. x wheng(x) =1

X =0
14. x wheng(x) = 3
X=2
x=-|
Level 2/3

15. George is starting a lawn mowing service called Happy Lawns. He charges $15 each time he
mows your lawn and a one-time sign up charge of $20. This situation can be modeled by
the function c(t) = 15t + 20 where t represents the times he has mowed your lawn and ¢

represents the cost.

a. Whatis c(5) and what does it represent in this situation?
This meons +Whou
wmaoie 8945

c(5) = 15(5)+20
cls) = Qs

o
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x g(x)
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0 1
1 7
2 3

Aoy 5 lauans (he hasy

b. Whatis c(t) = 110 and what does it represent in this situation?
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2.3 | can demonstrate understanding of the significant features of a graph or table and their
relationship to real-world situations.

Level 1

Find the domain and range in questions 1-3,

1. 2. 3.

Domain: x 2__‘4 Domain: ‘K ,'-U?-X 00 Domain: '-3 <X ‘_3

Range: 85 ‘-f Range: 32_3 Range:w
""l.f\y:-_ 2

4. Use the graph below to find the following:

a. x-intercept(s) ('l ‘q 2 D\ ' (-q L D\_ . ( ‘-65@\
b. y-intercept(s) __(_Q l\.

c. Increasing interval(s) oY 4l A LA TL =
d. Decreasing interval(s) = ‘<X< \
e. Relative minimum (l ' "‘\

[ T —

* . Relative maximum ‘-"'l |-‘5\'

et 3




Level 2/3

5. The graph below shows the height (in feet) of an angry bird with respect to the time (in
seconds).

a. Whatis the maximum height of the angry bird?
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20@'\- 20r , - '.-.\
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b. Determine the interval on which the angry bird’s 18 pom—f )
height is increasing. ) | P X
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c. When is the angry bird at 16 feet? & 12 ;o "
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d. Explain what the x-intercepts mean in relation &l ,' ': ) ‘,
to the angry bird. : o \ '
Wasn We Stowks on e cpound + a4t N ' \
W W \Guad) 6 g oyl J ". ! )
e. Whatis the rate of change of the angry bird from 1 2p ) » !
to 3 seconds? @) i SR {: { i

H .L ' '
&\sc_\?-gu:,_qu_sql&c- 12 3 45 86 7 8 8 10

fLW\ 3_ lscc 2 S = Time (seconds)
l'\ ~A
! TP T T 1T
6. Sketch a graph that has the following features: T ! T
— a. Has atleast one relative maximum R ;_ ’
— b. The Domainisx > —5 | _-’
- ¢. TheRangeisy = —2 )
- d. Hasay-intercept at (0,3)
= e. Hasx-intercepts at (2,0) and ( 4,0) ¢
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